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I. What is Statistics ? Explain its scope and utility.
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Calculate the median and mode from the following
data :
Wages No. of
(In ) Workers
0-5 3
5-10 | 7
10-15 15
15-20 30
20-25 20
25-30 10
30-35 3
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10-15 15
15-20 30
20-25 20
25-30 10
30-35 5
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2. Define Correlation. Explain its various types. What is

the significance of studying correlation ?
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Find the regression equations from the following
data :

X Y

1 2

2 5

3 3

4 8

5 7
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J’j./ What is Fisher’s Ideal Index 92 Why is it called
ideal ?
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Calculate : (1) Paasche’s, (i1) Laspeyre’s,
he following data :

Index Numbers from t
Commodity 2009 2010
Price |Quantity | Price Quantity
A 2 8 | 4 6
B 5 10 6 5
C 4 14 5 10
D 2 19 2 - R
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o 2009 2010
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A 2 8 4 6
B 5 10 6 5
a 4 14 5 10
D 2 19 2 1S
Unit-1V
(FFE-1V) 14 each
4. What is time series ? Discuss the need for analysis
of time series.
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The figures for quarterly income of a firm (in 2 lacs)
[Year | 15t Quaner Tod Quarter | 3rd Quarter | 4th Quarter
2009 74 56 48 69 -
12010 83 52 49 81
Using a four-quarterly moving average, estimate trend
values,
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5. Solve the linear equations using inverse method 3
2x + 3y.= 5
llx — S5y =6
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2x + 3y =5
llx - S5y =6
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A man deposited ¥ 5,000 in a bank for 3 years. If
he got compound interest 4% for first year, 3% for
second year and 2% for third year, find the amount

he got at the end of 3 years.
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